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The Molar Subway

You must have a balanced equation!

N, + 3H, > 2NH,

H NH
gram gram

Molar Mass Molar Mass
1 mol =2.008 g Imol=17.03¢g

H NH

2 3
mol mol

mol Ratio
3H,=2NH,

Molarity

(of solution)
X mol =1 liter

NH
liter

Molarity

(of solution)

X mol =1 liter

Avogadro’s
Number
1 mol = 6.022 x 10*

Avogadro’s
Number
1 mol =6.022 x 10*

H, %5 %15 NH,

molecule molecule

molecular formula
I N atom = | NH, molecule

molecular formula
2 H atoms = 1 H, molecule

molecular formula
3 H atoms = 1 NH, molecule

atoms

atoms atoms




